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QUESTION 1

Each PC and IP phone in your network is connected to a switch using the same port. All incoming data traffic is
untagged and belongs to the v10 VLAN, while traffic coming from the IP phones is tagged with a VLAN value of 20 and
should belong to the v20 VLAN on your switch. 

In this scenario, which statement is correct? 

A. You must enable the voice VLAN feature on the incoming interfaces and assign the v20 VLAN. 

B. You must enable an IRB interface and assign it to the v10 and v20 VLANs. 

C. You must enable LLDP-MED on the incoming interfaces and assign the v20 VLAN. 

D. You must enable the guest VLAN feature on the incoming interfaces and assign the v20 VLAN. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which set of interfaces is enabled for Ethernet switching? 

A. ge-0/0/6, ge-0/0/7, and ge-0/0/8 

B. ge-0/0/6, ge-0/0/8, and ge-0/0/10 

C. ge0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/10 

D. ge-0/0/6 and ge-0/0/8 

Correct Answer: C 

 

QUESTION 3

Which two statements concerning IS-IS adjacencies are correct? (Choose two.) 
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A. For Level 1 adjacencies, the area IDs can be different. 

B. For Level 2 adjacencies, the area IDs can be different. 

C. Level 2 routers can form an adjacency with Level 1 routers. 

D. Level 2 routers do not form adjacencies with Level 1 routers. 

Correct Answer: BC 

 

QUESTION 4

Click the Exhibit button. 

You are implementing the network shown in the exhibit. You must ensure that all users can communicate with each
other. 

What are three steps that should be taken in this scenario? (Choose three.) 

A. You must specify the appropriate Layer 3 IRB interface under each VLAN. 

B. You must define all ports as trunk ports and include all VLANs as members. 

C. You must define all ports as access ports and include the appropriate VLAN as a member. 

D. You must configure a single logical IRB interface with an IP address for each of the three networks. 

E. You must create a unique logical IRB interface for each network and assign an IP address within the appropriate
network. 

Correct Answer: ACE 

 

QUESTION 5

What is a purpose for the OSPF database description packet? 

A. to transfer the LSA headers between two systems 

B. to determine who is in charge of database flushing 

C. to transfer the LSUs between two systems 

D. to determine who is in charge of adjacency formation 

Correct Answer: A 
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